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[image: image1.png]Friendship _29 to be a unique form of human bonding. Unlike marriage or the ties that _30
parents and children, it is not defined or regulated by _31 . Unlike other social roles that we are

expected to _32 —— as citizens, employees, members of professional societies and _33

organizations it has its own principle, which 1s to promote _34  of warmth, trust, love, and
affection _35 two people.

The survey on friendship appeared in the March issue of Psychology Today. The findings
confirm that trust and betrayal are _36 _ to friendship. They also suggest that our readers do not
37 for friends only among those who are most like them, but find many _38 differ in race,

religion, and ethnic background. Arguably the most important _39  that emerges from the data,

40, is not something that we found —— but what we did not.
26. A.on B.of C.to D. for
27. A. addition B. reply C. turn D. return
28. A. results B. effects C. expectations D. consequences
29. A. feels B. leads C. sounds D. appears
30. A. bind B. attach C. control D. attract
3L A. discipline B. law C. rule D. regulation
32. A. keep B. do C. show D. play
33. A. all B. any C. other D. those
34, A. friendship B. interests C. feelings D. impressions
35. A. between B. on C.in D. for
36. A. neutral B. main C. nuclear D. central
37. A. ask B. call C. appeal D. look
38. A. people B. who C. what D. friends
39, A. conclusion B. summary C. decision D. claim
40. A. moreover B. however C. still D. yet

L MAEWE. A B. C. DEMNERF, ER—NEMREER, FHESTERAEHUEEL,
(FXREL10/VE, BE1 4, #£105.)
Choose the closest paraphrased version for each of the sentences or italicized parts. (10
points)
41. He realized that he had given himself away.
A. He had made a gift of himself.
B. He had betrayed himself.
C. He had accidentally revealed his secrets.
D. He had gotten himself lost.

42. Even shy, timid, sweet children have resilience.
A. Even shy timid, sweet children are able to recover quickly from damaging events.
B. Even shy timid, sweet children have resilient skin.
C. Even shy timid, sweet children will pay back in kind.
D

Even shy timid, sweet children have their happy time.
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Complete each of the following sentences with the most likely answer. (25 points)

1. We are interested in the weather because it ___us so directly — what we wear, what we do, and
even how we feel.
A. benefits . B. affects C. guides D. effects
2. Atthe meeting, _ problems of ____ unemployed were discussed in detail.
A./, an B. the, the C./,/ D. the, /
3. Our company decided to ___ the contract.
A. destroy B. refuse C. assume D. cancel

4. Neither Lucy __ Carol __any money left.

A. nor, has B. nor, have C. or, has D. or, have
5. Henry would rather his girlfriend ____in the same department as he does.
A. works B. worked C. is working D. to work
6. ___ nothing more to discuss, the secretary-general left the room.
A. There was B. Being C. There being D. As there is
7. Occasionally she and her husband ___rnide into the country for a picnic.
A. could B. must C. would D. should
8. Important people don’t have much free time as their work _ all their time.
A. takes away B. takes over C. takes up D. takes in
9. The speaker, ___for her splendid speeches, was warmly received by the audience.
A. having known B. being known  C. knowing D. known
10. The __ away your job is from manual work, the more important it will be that you know how to

convey your thoughts in writing or speaking.
A. greater B. more C. longer D. further
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she first heard of the man referred to as a specialist.

A. That was from John B. It was John whom

C. It was from John that D. It was John that

Fresh air, enough exercise and nutritious food ___to good health.

A. contribute B. addict C. attribute D. distribute
Little __ where it would lead me when I began this quest (i 71).

A.have 1known  B.had I known C. do I know D. did [ know
Believe it or not, last year, Mary earned ____her brother.

A. much as three times as B. three times as much as

C. as three times much as D. as much three times as

Itisreally _ to get angry about such an insignificant matter.

A. tragic B. ridiculous C. caomic D. unpardonable
The team ___ driving to the game in ___ own cars.

A. s, its B. are, its C. is, their D. are, their

Mr. Gage flew into a rage and threw down all the dishes reach.

A. under B. beyond C. within D. inside
Everyone warned you, ___? '

A. did he B. did they C. didn’t he D. didn’t they
The electricity was cut off while the film .

A. was shown B. was to show C. was showing  D. was being shown
It is not considered ___ to litter (FL-Z:L23}) in public.

A. respectful B. respective C. respected D. respectable
It’s time she __to be courteous.

A. learn B. will learn C. learns D. learned

Nothing __ trouble will result from the plan.

A. except B. but C. besides D. except for
] hope my teacher will take my recent illness into when judging my examination.
A. regard B. counting C. account D. observation

The fire started on the first floor of the hospital, many of ___ patients are elderly and infirm.

A. whose B. which C.its D. their
Jane’s anger could not be ___ when the conversation turned to the criticism of her own father.
A. held on B. held out C. held back D. held up

=IEZ, MA. B. C. D EANATS, EE—IERER, FAEETARAENECEL,
(AKEE 15/, BME15, #1550
Fill in each blank in the passage with the most likely answers. (15 points)
More than forty thousand readers told us what they looked for in close friendships, what

they expected _26  friends, what they were willing to give in _27 , and how satisfied they were

with the quality of their friendships. The _28_ give little comfort to social critics.




[image: image2.png]43. You are bound to vacillate at times.

A. Sometimes it is unavoidable for you to lose balance.
B. Sometimes you hesitate.
C. Sometimes you don’t know what to do.
D. Sometimes you are doomed to fail.
44. “Alan,” said Hughie seriously, “you painters are a heartless lot.”
A. You have a lot of unkind painters.
B. Many painters lack courage.
C. Many painters lack emotions.
D. Painters are a group of unkind persons.
45. Anyone about whom I have to say more is really less.
A. People to whom I can confide become less.
B. The more I say about someone, the less close our relation is.
C. Ican’t say more about someone I know little about.
D. Iseldom talk to someone I’'m not familiar with.
46. “Industry is caught in a web of bribery” and that everyone is “‘on the take.”
A. Everyone is taking bribes.
B. Everyone is blackmailing others.
C. Anyone who gets involved is going to be arrested.
D. Every person is, sooner or later, going to be a briber.
47. Silence falls over the room as the titanic proportions of the destruction begin to sink in.
A. People in the room fall silent as they sense that this building is going to fall apart under some
destructive force.
B. People in the room fall into silence as they realize their ship is sinking.
C. People in the room fall into silence as they come to understand how serious the destruction
1s.
D. People in the room fall silent as they hear the bad news of the wreck of the ship Titanic.
48. Then he had tried selling dry sherry. That did not answer, the sherry was a little too dry.
A. He sold dry sherry, but he couldn’t handle the customers’ complaint about the taste of sherry.
B. He sold dry sherry, but it was not as profitable as he had expected.
C. He sold dry sherry, but no one showed interest in his wine.
D. His sherry didn’t sell well, eventually all the sherry dried up.

49. [ attended the service with them and sat through it with a lump of cold lead in my chest and a big

resolution growing through me.

A.

B
C.
D

[ joined the armed forces.
[ entered the government department.
I took up the duties of a servant.

I showed up in the burial ceremonies.




[image: image3.png]50. Also, overindulged children are not as challenged as children with fewer playthings to be more

creative in their play.

A. Overindulged children show the same productive origmality as children with fewer
playthings in their play.

B. Children with fewer playthings show less productive originality than overindulged children
in their play.

C. Children with fewer playthings show no more productive originality than overindulged
children in their play.

D. Overindulged children show less productive originality than children with fewer playthings

in their play.

V. FiEBR. ARBETIERSEX, BEEXEA 5 1M, RIBIEXAEMMA. B. C. D
AMET R, EE—ITERER, HEEETRENHEE L, (AARIE 10 /)
B, G149, H109)

Read the two passages and answer the questions. (10 points)

Passage 1

It is generally well-known that in a number of particularly dangerous parts of the world, for
example, the Middle East and the India/Pakistan border region, there are countries which either
possess, or have the technology to produce nuclear weapons. It is also worth remembering, however,
that the country which possesses more nuclear weapons than any other, the United States, is the only
power ever to have used nuclear weapons against people.

Nuclear weapons were first developed in the United States during the Second World War, to be
used against Germany. However, by the time the first bombs were ready for use, the war with
Germany had ended and, as a result, the decision was made to use the weapons against Japan instead.
Hiroshima and Nagasaki have suffered the consequences of this decision to the present day.

The real reasons why bombs were dropped on two heavily-populated cities are not altogether
clear. A number of people in 1944 and early 1945 argued that the use of nuclear weapons would be
unnecessary, since American Intelligence was aware that some of the most powerful and influential
people in Japan had already realized that the war was lost, and wanted to negotiate a Japanese
surrender. It was also argued that, since Japan has few natural resources, a blockade (3#}) by the
American navy would force it to surrender within a few weeks, and the use of nuclear weapons would
thus prove unnecessary. If a demonstration of force was required to end the war, a bomb could be
dropped over an unpopulated area like a desert, in front of Japanese observers, or over an area of low
population inside Japan, such as a forest. Opting for this course of action might minimize the loss of
further lives on all sides, while the power of nuclear weapons would still be adequately demonstrated.

All of these arguments were rejected, however, and the general consensus was that the quickest
way to end the fighting would be to use nuclear weapons against centers of population inside Japan.

In fact, two of the more likely reasons why this decision was reached seem quite shocking to us now.




[image: image4.png]Since the beginning of the Second World War both Germany and Japan had adopted a policy of
genocide (i. e. killing as many people as possible, including civilians). Later on, even the US and
Britain had used the strategy of fire bombing cities (Dresden and Tokyo, for example) in order to kill,
injure and intimidate (Z¥T) as many civilians as possible. Certainly, the general public in the West
had become used to hearing about the deaths of large numbers of people, so the deaths of another few
thousand Japanese, who were the enemy in any case, would not seem particularly unacceptable — a
bit of “justifiable” revenge for the Allies' own losses, perhaps.

The second reason is not much easier to comprehend. Some of the leading scientists in the
world had collaborated to develop nuclear weapons, and this development had resulted in a number of
major advances in technology and scientific knowledge. As a result, a lot of normal, intelligent people
wanted to see nuclear weapons used; they wanted to see just how destructive this new invention could
be. It no doubt turned out to be even more “effective” than they had imagined.

51. How many reasons against using the weapons are given in Paragraph 37
A. Two
B. Three
C. Four
D. Five
52. From the last sentence of Paragraph 4, we can infer that .
" A. the real reasons for the decision may never have been made clear
B. the writer probably expects us not to agree with his opinion
C. the writer has not done much research on this subject to establish the facts
D. the writer has attempted to present the facts as objectively as possible
53. Which is closest in meaning to the last sentence of Paragraph 27
" A. The cities of Hiroshima and Nagasaki were badly damaged when they were bombed.
B. Hiroshima and Nagasaki suffered because Japan would not agree to end the war.
C. The awful effects of dropping nuclear bombs on these cities can still be felt.
D. The end of the war with Germany meant that Hiroshima and Nagasaki would suffer.
54. Which of the following does “a demonstration of force” in Paragraph 3 refer to?
A. A show of strength
B. A full attack
C. A parade of weapons
D. A meeting between the armies
55. “justifiable” in Paragraph 5 is in inverted commas (519 because
A. the word is used in an unusual way
B. the writer is quoting from the decision makers
- C. it is not really correct English

D. it might not be altogether appropriate here
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Is language, like food, a basic human need without which a child at a critical period of life can
be starved and damaged? Judging from the drastic experiment of Frederick II in the thirteenth century,
it may be. Hoping to discover what language a child would speak if he heard no mother tongue, he
told the nurses to keep silent.

All the infants died before the first year. But clearly there was more than lack of language here.
What was missing was good mothering. Without good mothering, in the first year of life especially,
the capacity to survive is seriously affected.

Today no such severe lack exists as that ordered by Frederick. Nevertheless, some children are
still backward in speaking. Most often the reason for this is that the mother is insensitive to the signals
of the infant, whose brain is programmed to learn language rapidly. If these sensitive periods are
neglected, the ideal time for acquiring skills passes and they might never be learned so easily again. A
bird learns to sing and to fly rapidly at the right time, but the process is slow and hard once the critical
stage has passed.

Experts suggest that speech stages are reached in a fixed sequence and at a constant age, but
there are cases where speech has started late in a child who eventually turns out to be of high IQ. At
twelve weeks a baby smiles and makes vowel-like sounds; at twelve months he can speak simple
words and understand simple commands; at eighteen months he has a vocabulary of three to fifty
words. At three he knows about 1,000 words which he can put into sentences, and at four his language
differs from that of his parents in style rather than grammar.

Recent evidence suggests that an infant is born with the capacity to speak. What is special about
man's brain, compared with that of the monkey, is the complex system which enables a child to
connect the sight and feel of, say, a toy-bear with the sound pattern "toy-bear". And even more
incredible is the young brain's ability to pick out an order in language from the mixture of sound
around him, to analyze, to combine and recombine the parts of a language in new ways.

But speech has to be induced, and this depends on interaction between the mother and the child,
where the mother recognizes the signals in the child's babbling, grasping and smiling, and responds to
them. Insensitivity of the mother to these signals dulls the interaction because the child gets
discouraged and sends out only the obvious signals. Sensitivity to the child's non-verbal signals is
essential to the growth and development of language.

56. The purpose of Frederick II's experiment was
A. to prove that children are born with the ability to speak
B. to see what language a child would speak without hearing any human speech
C. to find out what role careful nursing would play in teaching a child to speak

D. to prove that a child could be damaged without learning a language




[image: image6.png]57. The reason some children are backward in speaking is most probably that
A. they are incapable of learning language rapidly
B. they are exposed to too much language at once
C. their mothers respond inadequately to their attempts to speak
D. their mothers are not intelligent enough to help them
58. What is exceptionally remarkable about a child is that
A. he is born with the capacity to speak
B. he has a brain more complex than an animal's
C. he can produce his own sentences
D. he owes his speech ability to good nursing
59. Which of the following can NOT be inferred from the passage?
A. The faculty of speech is inborn in man.
B. Encouragement is anything but essential to a child in language learning
C. The child's brain is highly selective
D. Most children learn their language in definite stages
60. If a child starts to speak later than others, he will_____in future.
A. have a high IQ B. be less intelligent

C. be insensitive to verbal signals ~ D. not necessarily be backward

V. AR BESERMMNIISRAIESMNIIMENEER LEHMNEE. (KAAXEL 10

NE, BEE1 S, 104D

Complete each of the following sentences with a (compound) word derived from the one(s)

given in brackets. (10 points)

61. Once there was a little concert ___ named Rudolf. (violin)

62. Help me to ___ my financial problems. (solution)

63. People find ___in working for a common goal. (fulfill)

64. There are no ___ allies and enemies among countries. National interest is constantly uniting or
dividing nations. (ever, last) v

65. Itisvery __to interrupt during someone’s conversation. (courtesy)

66. She tried not to show ___ in her treatment of the children in her care. (prefer)

67. Sheisa __ for me to become more fully what I might become. (stimulate)

68. Henevershows ___for anything. (appreciate)

69. Hughie is aan) ___ young man; he gave the only pound he had to a poor old man. (kind, heart)

70. She wenttoa___near at hand for some bread. (bake)
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Translate the following sentences into English. (15 points)
71 AR RIS BB R TIRZIAIEN R
72. SR BB EM R, BAFEEAKREEVERE TS S,
73. AAHALI 2 AR A WA A IR BRI 5 (7]
74. BEANIRIEEERIR 5. (spirits) |
75. Ak, ARER I CEMNPE AR N SERE B S M08 Rk, (shift)

VILEX . RIBAFHN—EIREX, SH 150 FEANE X (AXBMEKRTREXXEN, 15 5)

Write a short composition of about 150 words based on one of the texts you have learned.
TOPIC: Overindulgence —Reasons and Advice

76. Base your composition on the text “Are you Giving Your Kids Too Much™.
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